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Il Semester 3 Years LL.B. Examination, March 2022
LABOUR LAW -1

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer any five questions from group (a) each question
carries 10 marks.
2. Answer any five questions from group (b) each question
carries 06 marks.
3. Answers should be written either in English or Kannada
completely.

Q. No. 1. a) Explain factors responsible for departure of old theory
master and servant. Marks : 10
CRRJINT [T NewT %m@oa’ ANFOTOY FTHTT
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Q. No. 1. b) Due to internal misunderstanding between Trade Union
members, they wants to withdraw and cancel the Trade
Union Registration, can they do so ? Advice. Marks : 6
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Q. No. 2. a) Define Trade Union. Examine the immunities available to
Registered Trade Unions. Marks : 10
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Q. No. 2. b) I.L.O. Conventions relating to Trade Unions. Marks : 6
moors Koznert Bowopas 1.L.O. XEndeEnsb.

Q. No. 3. a) Define 'Industry’ and whether Hospital, University are
Industries ? Discuss. Marks : 10
WOOTODRS T, ETON0 DY) wdg DY :b:S O, LODRW
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Q. No. 3. b) Procedure followed u/s 10-A Industrial Dispute Act, 1947, Marks : 6
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Describe how Labour Court, Industrial Tribunal and
National Tribunal adjudicate the industrial disputes
referred by the Government.
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Define strike and what are the provisions relating
prohibition of strike.
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Ramya and Co. is public utility service Industry called
for strike during pendency of conciliation proceedings
workmen pleaded that strike was provoked by employer,
decide.
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Explain the provisions relating to closure under Industrial
Dispute Act, 1947.
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A workman was terminated by employer for misconduct.
Being workman he raised a dispute under I.D. Act, 1947
as it amounts retrenchment. Decide by giving reason.
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Marks : 6
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Q.No.7. b)
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4009
State the procedure of employees Insurance Claims
under Employees State Insurance Act, 1948. Marks : 10
T8I0 Ty DRR BORCRY, 19480 Sl oW IR oo
IR Gestony ggosgm 3OND.
Partial and total disablements under Employee’s
Compensation Act, 1923. Marks : 8
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Explain the various authorities provided under E.S.I. Act, 1948. Marks : 10

833 ooty DRt LRI, 19488 TE0  BUXOLES
DG THOROR) oN.

Q. No. 8. b) Employees State Insurance Courts. Marks : 6
LMV o] ooty DR T 03RO,

Q. No. 8. a) Briefly explain the various provisions relating to Safety
measures under Factories Act, 1948. Marks : 10
TIRFINY LRICHRD, 19488 vaDY :&)dqyﬂ :tict..)ot;s‘:;:it.gJ
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Q. No. 9. b) Employment of Young Persons Under Factories Act, 1948, Marks: 6
1948 aFINY SO LRHY, LIy ctwTes
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Q. No. 10. a) Define wages. Explain the objectives of Payment Wages
Act, 1936. Marks : 10
DIIJD), WA, BeBI Bomood ALY, 19368
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Q. No. 10. b) Canteen and Creches under Factories Act, 1948. Marks : 6
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